=~1072 —~
= =
g =
= 3
2‘ 8 lo—l
~6/ e}

1072

o103 o +wof
T T r
o o o -
R
0.95C - . : . .
10™ 1 10 0, .1
TPp. (PCA t% beamllnef)
T
2spress)
ecPlLess3
ecPLess4
= IS
2 e
> 3
° o
5 o

107

o wuob . 010l bl il
T r : T r T : :
@ [ B @ [ B
e AN A0 e A AN
O'is(;‘l 1 10 62 3 0%50-‘1 1 10 62 3
TPp, (PCA tlo beamling'f) TPp, (PCA t]b beamling'f)
~ 1
2
D_)—
o
<]
107"
1072
9 J..UU_ :
T r T
& L :
Gl S aaacl v aw oo Rl ERRRRCRLRERRRALDRLRERRLE
05— i - = .
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


